+TEHEE
FEH| HEELY
Vi=  8.46 =
2 —
%+ AEELY
Vi=  0.28 =
Z =
JEHI R RS F HEH! vV =
AR vV =
% - B E A+ =
HE L vV =
¥R ALER ( fEE + KE ) — Bt + #HE ) /0.9

V= 8.5 — 0.3 /0.9 =




1 4 i 5 #
# R il
R 4 Ao | B Pewe ] v ow | £ R (B v E R (Wak B | £ R
(m® (m% (m”) (m% (m?) (m”) (m® (m® (m”)
NO. 0 NO.O +  0.00 0. 00 0.13
NO. 1 NO.1 +  0.00 20. 00 0.95 0.19 3. 80
NO.1410.0 |NO.1 + 10.00 10. 00 0.07 0. 16 1. 60
NO. 2 NO.2 +  0.00 10. 00 0. 09 0.08 0. 80
NO. 3 NO.3 +  0.00 20. 00 0.03 0. 06 1. 20 0.01
NO. 4 NO.4 +  0.00 20. 00 0.03 0.03 0. 60 0.01 0.01 0. 20
NO.4+7.6  |[N0o.4 +  7.60 7. 60 0. 09 0. 06 0. 46 0. 00 0.01 0. 08
aar 87. 60 8. 46 0.28




a7 U — Mk

REEFEIE HEER R E LY
(W24 FHt=3cm) A= 185. 40 - 185.4 | m* 185. 4
ar Y — sk MR & &Y
(t=12cm) A= 185.40 - 185.4 | m*

185. 4




4 4 i 1 o =
N 2 v 7 U = G
WO 4 Rl W [ m amm | W | F B | @ ® | W | FH | @ R
(m) (m) (m®) (m) (m) (m®) (m) (m) (m®)

NO. 0 NO.O  + 0. 00 0. 00 2. 86

NO. 1 NO.1 + 0. 00 20. 00 2. 00 2.43 48. 60
NO. 1+10. 0 NO.1 + 10.00 10. 00 2.16 2.08 20. 80
NO. 2 NO.2  + 0. 00 10. 00 2.00 2. 08 20. 80
NO. 3 NO.3  + 0. 00 20. 00 2.00 2.00 40. 00
NO. 4 NO. 4 + 0. 00 20. 00 2. 00 2.00 40. 00
NO. 4+7. 6 NO.4 + 7.60 7. 60 2.00 2.00 15. 20
ot 87. 60 185. 40




o v 7 Uy — b+ & I (100m224 1)
Vs ‘j: Y,
%ﬁ%l?ﬁ'\j( avhy—k
(21-8-25H)
BiEEHE
(150 x 150 x D6)
””” OQOO,/OO 8
VOO L] =2
=~ BEEIF
(RC-40, t=3cm)
4 PR = 1 AL =%
a7 J—§K | V= 100.000 X 0.120 = 12.000 | m?® 12. 00
(21-8-25H, t=12cm)
R4 A= = 100.000 | m? 100. 00
(150 X 150 X D6)
B Hikt N= 100.000 = ( 2.100 X 10.000 ) = 4.762 |fEFT
(z72%4}, t =10mm) SOEHIE EW=2. 10m
A= 2.100 X 0.120 X 4.762 = 1.200 | m? 1. 20
Binly e/ A= 100.000 -+ 2.100 X 0.120 X 1. 250
= 7.143 | m? 7.14

MM RIER 3 . AN AEE OV O1 %3 |




|
&R TRt

a7 U—F FHEELDY
FEEYEEE L V= 183.67 X  0.075 = 13.8
(E47) _
> = 13.8 | m*® 13.8
SHAERREINT L= 2.86 = 2.9 | m 2.9
EPTAERN $No. OFEHr : 2. 86m
(t=15cmlLF)
I FEEHIE L LV
(= s U — 1) |V= 13. 80 = 13.8
> = 13.8 | m? 13.8
RISy S EEE L LY
(= s U — 1) |V= 13. 80 = 13.8

X = 13.8 | m’ 13.8




B 2 L G B &
N 2 v 7 U = G
WO 4 A | B TR T e w [ wm o | R | F o | @ o® | W | B | @
(m) (m) (m®) (m) (m) (m®) (m) (m) (m®)

NO. 0 NO.O  + 0. 00 0. 00 2. 86
NO. 1 NO.1 + 0. 00 20. 00 2. 00 2.43 48. 60
NO. 1+10. 0 NO.1 + 10.00 10. 00 2.16 2.08 20. 80
NO. 2 NO.2  + 0. 00 10. 00 2.00 2. 08 20. 80
NO. 3 NO.3  + 0. 00 20. 00 1.96 1. 98 39. 60
NO. 4 NO. 4 + 0. 00 20. 00 1. 96 1. 96 39. 20
NO. 4+7. 6 NO.4 + 7.60 7. 60 1. 90 1.93 14. 67
ot 87. 60 183. 67




